Jame  Name:

"~ Addition Challenge

Solve the equations.

1.67+44=__ 1.26+38=__
2.95+17=___  2.45+46=_
3.28+28=____  3.88+88-=
4.37 +45 = 4.53 +54 =
5. 82 +89-= 5. 72 + 37 =
6. 60 + 60 = 6.40 + 40 =
7.30+50= 7.60+70-=
8.50+ 70 = 8 30+90-=

9.90 + 90 = 9.20 + 60 =

10.40 + 80 = 10. 80 + 80 =

Worksheet 2




Jambe  Answers

"~ Addition Challenge

Solve the equations.

1.67 +44 =111 1.26 + 38 = 64
2.95+17 =112 2.45 + 46 = 91
3.28 +28 =56 3.88+88 =176
4.37+45 =82 .53 +54 =107

5.82+89=171 .72 +37 =109

6.60 + 60 =120 .40 +40:=80

7.30+50 =280 .60+70=130
8.50+70 =120 8.30+90=120
9.90+90 =180 9.20+60:=80

10.40+80=120 10.80+ 80 =160

Worksheet 2




